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Q1. Détermination de 𝒗𝒗𝟑𝟑����⃗  Q1. Détermination de 𝒗𝒗𝟒𝟒����⃗  Q1. Détermination de 𝒗𝒗𝟓𝟓����⃗  

   

𝒗𝒗𝟑𝟑 =
𝑴𝑴𝟐𝟐𝑴𝑴𝟒𝟒

𝟐𝟐𝟐𝟐
=

𝟏𝟏𝟏𝟏
𝟕𝟕𝟕𝟕

× 𝟐𝟐𝟐𝟐
𝟐𝟐 × 𝟎𝟎,𝟎𝟎𝟎𝟎𝟎𝟎

 

= 𝟑𝟑𝟑𝟑,𝟒𝟒 𝐜𝐜𝐜𝐜/𝐬𝐬

≈ 𝟏𝟏,𝟔𝟔 𝒄𝒄𝒄𝒄 

𝒗𝒗𝟒𝟒 =
𝑴𝑴𝟑𝟑𝑴𝑴𝟓𝟓

𝟐𝟐𝟐𝟐
=

𝟏𝟏𝟏𝟏
𝟕𝟕𝟕𝟕

× 𝟐𝟐𝟐𝟐
𝟐𝟐 × 𝟎𝟎,𝟎𝟎𝟎𝟎𝟎𝟎

 

= 𝟑𝟑𝟑𝟑,𝟏𝟏 𝐜𝐜𝐜𝐜/𝐬𝐬 

≈ 𝟏𝟏,𝟗𝟗 𝒄𝒄𝒄𝒄 

𝒗𝒗𝟓𝟓 =
𝑴𝑴𝟒𝟒𝑴𝑴𝟔𝟔

𝟐𝟐𝟐𝟐
=

𝟏𝟏𝟏𝟏
𝟕𝟕𝟕𝟕

× 𝟐𝟐𝟐𝟐
𝟐𝟐 × 𝟎𝟎,𝟎𝟎𝟎𝟎𝟎𝟎

 

= 𝟒𝟒𝟒𝟒,𝟎𝟎 𝐜𝐜𝐜𝐜/𝐬𝐬 

≈ 𝟐𝟐 𝒄𝒄𝒄𝒄 

 



 

Q2.  

𝒂𝒂𝟒𝟒 =
𝒗𝒗𝟓𝟓 − 𝒗𝒗𝟑𝟑
𝟐𝟐𝟐𝟐

=
𝟒𝟒𝟒𝟒,𝟎𝟎 − 𝟑𝟑𝟑𝟑,𝟒𝟒
𝟐𝟐 × 𝟎𝟎,𝟎𝟎𝟎𝟎𝟎𝟎

= 𝟖𝟖𝟖𝟖 𝒄𝒄𝒄𝒄.𝒔𝒔−𝟐𝟐

= 𝟎𝟎,𝟖𝟖𝟖𝟖 𝒎𝒎.𝒔𝒔−𝟐𝟐 = 𝟏𝟏,𝟕𝟕 𝒄𝒄𝒄𝒄  

 

 

Q3.  

𝑭𝑭𝒑𝒑����⃗ = 𝝆𝝆 × 𝑽𝑽 × 𝒈𝒈��⃗  

𝑭𝑭𝒑𝒑 = 𝝆𝝆 × 𝑽𝑽 × 𝒈𝒈 = 1240 × 𝟐𝟐,𝟏𝟏𝟏𝟏 × 𝟏𝟏𝟏𝟏−𝟔𝟔 × 𝟗𝟗,𝟖𝟖𝟖𝟖 = 𝟐𝟐,𝟓𝟓𝟓𝟓 × 𝟏𝟏𝟏𝟏−𝟐𝟐 𝑵𝑵 < 𝑃𝑃 

Q4.  

 
 

 

Q5.  

𝑭𝑭𝒑𝒑����⃗ + 𝑷𝑷��⃗ + 𝒇𝒇�⃗ = 𝒎𝒎𝒂𝒂��⃗ > 0 

𝑭𝑭𝒑𝒑 − 𝑷𝑷 + 𝒇𝒇 = −𝒎𝒎 × 𝒂𝒂 

𝑭𝑭𝒑𝒑 −𝑚𝑚 ×𝒈𝒈 + 𝒇𝒇 = −𝒎𝒎 × 𝒂𝒂 

𝒇𝒇 = 𝑚𝑚 × 𝒈𝒈 − 𝑭𝑭𝒑𝒑 −𝒎𝒎× 𝒂𝒂 

𝒇𝒇 = 𝑚𝑚 × (𝒈𝒈 − 𝒂𝒂) − 𝑭𝑭𝒑𝒑 = 3,80 × 10−3 × (𝟗𝟗,𝟖𝟖𝟖𝟖 − 𝟎𝟎,𝟖𝟖𝟖𝟖)− 𝟐𝟐,𝟓𝟓𝟓𝟓 × 𝟏𝟏𝟏𝟏−𝟐𝟐 = 𝟖𝟖,𝟓𝟓 × 𝟏𝟏𝟏𝟏−𝟑𝟑 𝑵𝑵 

 


